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A new one should be demolished — 7N RTR

OVERVIEW

The X713 cited a Xn»72 if a new (unused) clay oven was heated with X177 "M0K
fuel it must be destroyed and it cannot be used.! If he baked bread (in this oven)
with 7X37 10X fuel there is a dispute between 27 who maintains the bread is 0K
and the 0°non1 who maintain the bread is 2na. Our Moo explains this NPY?MA.

- S‘”VN ‘0993 N1 AN 3‘11)3‘\: DNy NAY Y I) NoM ’naa 08y NaY ¥ 920p
27 maintains that the baked bread derives benefit from the wood (which is
heating the oven), and here too (regarding the oven) the oven derives benefit
from the wood, and 27 also maintains that 291 ;711 777 is forbidden —

mooIn clarifies the P12 between 1327 °21 regarding N9 Q%Y NAW:
- S35 NPIANYI NN NN 099 1AV DINYN 137N 191 DINY NIY U

And °27 who maintains np2 23y 12w wY; means a case where the wood, which

causes the baking of the bread, its flame is exposed to the bread -
- Y139 NPIANNY 29 HY N NS DIYY NAY PPN 920 1329

However the 3329 maintain that np2 2°3¥ 3w 18 even though it is 17315 7?12 -
= IWIN INWYN NNNN NOHN DINYN )1 NN NN NANHYY

Because the flame does not come from the existing wood, but rather from the

bit of wood that is burnt (and consumed by the fire) -
- 79959 19) PYA NOIND PRT HDNI 1D NOD 13 BN

! The initial heating up of a new oven strengthens the oven and makes it possible for it to be used. Therefore the
oven is sustained by 1X177 *110°K and it may not be used.
' When one bakes bread, the bread improves (from nonedible dough to edible bread). This improvement is due to the
7R3 *o°X fuel which is making the fire and baking the bread. It is considered as if the 7X17 *110°X became absorbed
by the bread, thus making the bread T0x.
? See footnote # 1. Just as we consider the bread to be X372 MK (for it derived benefit from 7R3 *N0°K) so too the
oven is 1IR172 MOR (since it too derived benefit from X7 "M0°K).
Yoo (literally this one and this one is the cause); refers (in this case) to the bread which will be baked in the
wn 7n, with permissible fuel. The bread that is being baked requires both the oven (which is a cause of 710°X [see
footnote # 3])) and [with regular] fuel (which is a cause of 7n°7). °27 maintains that in a case of 271 7N 77 (since
there is a 2713 of 7M10°X) it is MOX (even though there is also a @73 of n7).
> Therefore *21 rules ynv w7n; for this oven can never be used again since there will always be a 01 of MOX
(namely the oven).
% The flame (and heat to bake) comes directly from the X371 M19°X wood which is there by the bread.
7 When the bread was baked on the coals of X177 *10°X (the original fuel changed and became coals) all agree (even
>17) that the bread is 7n» since the MO°X is not 1°¥1; it became coals.
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Therefore this is like the case of coals where the forbidden item does not exist,
and >"w1 also explained it in this manner.®

nooIn asks:
= 9ONY MV NAYA HYAND (2 mawn 7a pas mman) 9INRT NN %594y 19N 13229 290 HYPN

197K 1''57 asked; according to 529, this which the 71w states, ‘one who cooks on

naw inadvertently, the food may be eaten -
- 17 PEPI OINNT Noa NYPIN NAY U NI INNNY NAWA 1959N)

And even on that very same n2w’; but why is it 7 [according to "27] let us say
no2 IxpIn maw wo, for the coals (on which the food was cooked) are m3p1a?!

N1B0IN answers:
- NN AN SN NIN T90W RYT PNYS 19529 0INY

And the >"9 answered that this idea of ns2 "21 naw v~ is only applicable by
78177 9710°R specifically, but not by other 20X such as %P7 -

SN HY 11992 1P20NY 999 23) (ow 3,50 91 NIT NTIAYT XINA D992 DIVNPN YO 19
And >"wA also explained it in this manner'” in the last 799 of 1"y noon regarding
the 71wn of ‘an oven which was heated with cumin'® of 10’

SUMMARY

’27 maintains that YN w71 because he maintains 711N 2°Xy 72w w° and A"'77 1s TOK.
This applies only when the wood is apparent but not after it becomes coals. 72w w»
121 @°xy is applicable only by X177 *710°K.

THINKING IT OVER

8 qur 772 and 7YY "3 R, RS,
? The S"wamn is "' 07 (the question was presented to the *") instead of *275. The question is both on *27 and the
1127. However the X"wnmn retains our X073 (even though the question is also on the j127), since the idea of maw w°
no2 o°¥y is mentioned and attributed explicitly to »27.
' This is the view of 7"Xn "1 that even the (331w32) Ywan may eat it on this same N2w.
' Just as noa o°¥y maw w* teaches that the X371 MoK is transferred from the food to the bread, the same should apply
here that the 7% MoK of the coals should be transferred to the bread and therefore make the bread n¥pn and
forbidden to be eaten on that naw.
12 By 71x37 M0°K we say that since N92 "8y maw w° there is a bit of X377 *MOX there, so therefore by eating the bread
you are deriving benefit from 7R17 >M0°X; however by n¥p1n M0°X even though you may be deriving X371 from the
7%, nevertheless it is permitted since 7XP1A is ARIT2 NN,
13 See there PRW 7"72 where *"WwA writes; TRIT NOX AN PR T91INT T2 NDIK KD PONTT DWN K.
' Aromatic seed used as a spice.
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Is the NP7 between °27 and the 13127 whether there is N2 2°¥y 72w (°27) or there is
no N9a 0°¥Y naw (1327); or is the np12m whether it is considered %y naw (°27) or it
is considered noma naw (1327) but all agree that there is n52 "2 naw?'

15 See nnx now.
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